



Revolution Surfaces with Constant Mean Curvature in Non-Euclidean Spaces

Hongjuan Ma^{1*} and Aiping Wang¹

¹College of Information Engineering, Science and Technology HuangHe University, Zhengzhou, Henan Province, 450063, China.

Article Information

DOI: 10.9734/BJMCS/2015/9987

Editor(s):

(1) Jacek Dziok, Institute of Mathematics, University of Rzeszow, Poland.

Reviewers:

(1) Anonymous, Turkey.

(2) Anonymous, Turkey.

Complete Peer review History: <http://www.sciencedomain.org/review-history.php?iid=1030&id=6&aid=8337>

Original Research Article

Received: 10 March 2014

Accepted: 28 October 2014

Published: 04 March 2015

Abstract

In this article, we study the conformal mean curvature equation in Thurston's geometries of Sol space. The classification of revolution surfaces with mean curvature was obtained by studying the corresponding profile curves in Sol space. According to the characteristics of the conformal metric, the revolution surfaces in Sol manifold were obtained through a profile curve revolving respectively. Assumes that the mean curvatures of these revolution surfaces were certain functions, the corresponding differential equations about the profile curves can be obtained. By solving these differential equations, the classification of the revolution surfaces with conformal mean curvature was achieved.

Keywords: Sol manifold; revolution surface; mean curvature; conformal metric.

2010 MR Subject Classification 53C42; 53A10.

1 Introduction

With the development of mathematics, hyperbolic geometry has become an important branch of mathematics. Hopf conjecture [1] states that a compact surface immersed in R^n with constant mean curvature (CMC) is the standard (round) sphere. It can be viewed as a generalization of Alexandrov's theorem which asserts that every compact embedded CMC surface in R^3 is the round sphere. This conjecture has been disproved by Hsiang [2] who constructed a counterexample in R^4 and then by Wente [3] who produced an immersion of a compact oriented two-dimensional

*Corresponding author: mhj410725@aliyun.com;

surface of genus 1 into R^3 with constant mean curvature. Finally Kapouleas ([4,5]) constructed examples of CMC surfaces for every genus $g \geq 2$. In non-Euclidean manifold, Thurston Sol manifold geometry is the study of a wide range of space. Because it has the same with Euclidean space, mathematics workers have done a lot of research work [6-8]. Kenmotsu respectively discussed constant mean curvature surfaces in R^3 and the given mean curvature revolution surfaces in R^3 [9]. We have not discussed revolution surfaces with given mean curvature function in Thurston's geometries of Sol space. In this note, we will prove the existence of revolution surfaces with conformal mean curvature in Sol space.

Theorem: For every rotationally invariant compact smooth surface S embedded in Thurston's geometries of Sol space there exists a conformally flat metric g of R^3 such that S has constant mean curvature with respect to g .

Sol space, one of Thurston's eight 3-dimensional geometries, can be viewed as R^3 provided with Riemannian metric $g_{Sol} = ds^2 = e^{2z} dx^2 + e^{-2z} dy^2 + dz^2$, where (x,y,z) are the standard coordinates in R^3 . Note the Sol metric can also be written as:

$$ds^2 = \sum_{i=1}^3 \omega_i \otimes \omega_i,$$

where

$$\omega_1 = e^z dx, \omega_2 = e^{-z} dy, \omega_3 = dz,$$

and the orthonormal basis dual to the 1-form is

$$e_1 = e^{-z} \frac{\partial}{\partial x}, e_2 = e^z \frac{\partial}{\partial y}, e_3 = \frac{\partial}{\partial z},$$

With respect to this orthonormal basis, the Levi-Civita connection and the Lie brackets can be easily computed as:

$$\nabla_{e_1}^{e_1} = -e_3, \nabla_{e_1}^{e_2} = 0, \nabla_{e_1}^{e_3} = e_1, \nabla_{e_2}^{e_1} = 0, \nabla_{e_2}^{e_2} = e_3, \nabla_{e_2}^{e_3} = -e_2, \nabla_{e_3}^{e_1} = 0, \nabla_{e_3}^{e_2} = 0, \nabla_{e_3}^{e_3} = 0,$$

$$[e_1, e_2] = 0, [e_2, e_3] = -e_2, [e_1, e_3] = e_1.$$

We adopt the following notation and sign convention for Riemannian curvature operator.

$$R(X, Y)Z = \nabla_X \nabla_Y Z - \nabla_Y \nabla_X Z - \nabla_{[X, Y]} Z,$$

The Riemannian curvature tensor is given by

$$R(X, Y, Z, W) = g(R(Y, X)Z, W) = -g(R(X, Y)Z, W),$$

A direct computation using the formula gives the following non-zero components of Riemannian curvature of Sol space with respect to the orthonormal basis $\{e_1, e_2, e_3\}$:

$$R_{121} = -e_2, R_{131} = e_3, R_{122} = e_1, R_{232} = e_3, R_{133} = -e_1, R_{233} = -e_2,$$

and

$$R_{1212} = -g(R(e_1, e_2)e_1, e_2) = -g(-e_2, e_2) = 1,$$

$$R_{1313} = -g(R(e_1, e_3)e_1, e_3) = -g(e_3, e_3) = -1,$$

$$R_{2323} = -g(R(e_2, e_3)e_2, e_3) = -g(e_3, e_3) = -1.$$

The proof is done by solving for g the equation $H_g = c$, where H_g is the mean curvature of S in (R^3, g) [10], which we will compute with the formula

$$H_g = \frac{1}{2}[g(\nabla_{e_1}^{e_1} v) + g(\nabla_{e_2}^{e_2} v)].$$

Hence we first need to find an orthonormal basis $\{e_1, e_2, v\}$ for (R^3, g) (such that $\{e_1, e_2\}$ is an orthonormal basis for the tangent space of S) and the covariant derivatives $\nabla_{e_1}^{e_1}$ and $\nabla_{e_2}^{e_2}$ for which we need the Christoffel symbols Γ_{ij}^m .

2 Preliminaries

In R^3 consider the cylindrical coordinates (x, ρ, θ) corresponding to the cartesian coordinates $(x, y = \rho \cos \theta, z = \rho \sin \theta)$ [5]. The surface of revolution S obtained by rotating the graph of the function $r(x)$ around the x -axis is given by the immersion:

$$(x, \theta) \mapsto (x, r(x), \theta),$$

i.e.

$$S = \{(x, \rho, \theta) \in [x_1, x_2] \times R^+ \times [0, 2\pi] \mid \rho = r(x)\}$$

for some $x_1 < x_2$, where the following closing condition holds:

$$r(x) \geq 0, \forall x \in [x_1, x_2], r(x_1) = 0 = r(x_2).$$

Moreover since S is supposed to be smooth, the tangent line to $r(x)$ at $x_i, i = 1, 2$ has to be vertical; finally to avoid self-intersections the two endpoints x_i are the only points where r vanishes. In this coordinate system, the euclidean metric has matrix.

$$\varepsilon = (\varepsilon_{ij}) = \begin{pmatrix} 1 & 0 & 0 \\ 0 & 1 & 0 \\ 0 & 0 & \rho^2 \end{pmatrix},$$

in fact:

$$\partial_\rho = \cos \theta \partial_y + \sin \theta \partial_z, \partial_\theta = -\rho \sin \theta \partial_y + \rho \cos \theta \partial_z,$$

We will modify the euclidean metric of R^3 by adding to it a rotationally invariant smooth function $M = M(x, \rho): R \times R^+ \rightarrow R$. The new metric will be

$$g_{ij} = \begin{pmatrix} e^{f(x,\rho)} & 0 & 0 \\ 0 & e^{f(x,\rho)} & 0 \\ 0 & 0 & \rho^2 e^{f(x,\rho)} \end{pmatrix} = e^{f(x,\rho)} \mathcal{E},$$

Note that $g = e^{f(x,\rho)} \mathcal{E}$, hence the new metric is conformal to the euclidean one.

We will need a basis $\{e_1, e_2, \nu\}$ for R^3 , orthonormal in the metric g , such that $\{e_1, e_2\}$ is an orthonormal basis for the tangent space $T_p S$ at the point $p = X(x, \nu)$. As usual we will obtain $\{e_1, e_2\}$ by normalizing the two vectors $\{\tilde{e}_1, \tilde{e}_2\}$ that generate $T_p S$, which are

$$\tilde{e}_1 = \frac{\partial X}{\partial x} = (1, r', 0), \tilde{e}_2 = \frac{\partial X}{\partial \theta} = (0, 0, 1),$$

Hence

$$g(\tilde{e}_1, \tilde{e}_1) = e^{f(x,\rho)} (1+r'^2), g(\tilde{e}_2, \tilde{e}_2) = e^{f(x,\rho)} \rho^2,$$

which yield

$$e_1 = \frac{1}{\sqrt{e^{f(x,\rho)} (1+r'^2)}} (1, r', 0), e_2 = \frac{1}{\rho \sqrt{e^{f(x,\rho)}}} (0, 0, 1),$$

In the last expression we used $\{\partial_x, \partial_\rho, \partial_\theta\}$ as a basis for $T_p S$. To find ν we can use the vector product as in the euclidean case, since a conformal change in the metric does respect the angles, hence:

$$\nu = \frac{e_1 \times e_2}{\|e_1 \times e_2\|} = \frac{1}{\sqrt{e^{f(x,\rho)} (1+r'^2)}} (r', -1, 0).$$

3 Christoffel Symbols

We are now in the position to compute the Christoffel symbols for the connection induced on S by the metric g ; we will adopt the notation

$$x = x^1, \rho = x^2, \theta = x^3,$$

and use the formula [6]

$$\Gamma_{ij}^m = \frac{1}{2} \sum_k g^{km} \left(\frac{\partial}{\partial x^i} g_{jk} + \frac{\partial}{\partial x^j} g_{ki} - \frac{\partial}{\partial x^k} g_{ij} \right),$$

where as usual (g^{ij}) is the inverse matrix of (g_{ij}) , so in the cylindrical coordinates

$$g^{ij} = (g_{ij})^{-1} = \begin{pmatrix} e^{-f(x,\rho)} & 0 & 0 \\ 0 & e^{-f(x,\rho)} & 0 \\ 0 & 0 & \frac{1}{\rho^2} e^{-f(x,\rho)} \end{pmatrix},$$

For $m = 1$ the above formula simplifies to:

$$\Gamma_{ij}^1 = \frac{1}{2} g^{11} (\partial_i g_{j1} + \partial_j g_{i1} - \partial_x g_{ij}),$$

So we get:

$$\Gamma_{11}^1 = \frac{1}{2} f_x, \Gamma_{12}^1 = \frac{1}{2} f_\rho = \Gamma_{21}^1, \Gamma_{13}^1 = 0 = \Gamma_{31}^1, \Gamma_{23}^1 = 0 = \Gamma_{32}^1, \Gamma_{22}^1 = -\frac{1}{2} f_x, \Gamma_{33}^1 = -\frac{1}{2} \rho^2 f_x.$$

In the same way for $m = 2$ the formula becomes

$$\Gamma_{ij}^2 = \frac{1}{2} g^{22} (\partial_i g_{j2} + \partial_j g_{i2} - \partial_r g_{ij}),$$

and we obtain:

$$\Gamma_{11}^2 = -\frac{1}{2} f_\rho, \Gamma_{12}^2 = \frac{1}{2} f_x = \Gamma_{21}^2, \Gamma_{23}^2 = 0 = \Gamma_{32}^2, \Gamma_{13}^2 = 0 = \Gamma_{31}^2, \Gamma_{22}^2 = \frac{1}{2} f_\rho, \Gamma_{33}^2 = -\frac{1}{2} (2\rho + \rho^2 f_\rho).$$

Finally, for $m = 3$

$$\Gamma_{ij}^3 = \frac{1}{2} g^{33} (\partial_i g_{j3} + \partial_j g_{i3} - \partial_\theta g_{ij}),$$

that gives:

$$\Gamma_{ij}^3 = 0, i, j \neq 3, \Gamma_{13}^3 = \frac{1}{2} f_x = \Gamma_{31}^3, \Gamma_{23}^3 = \frac{2\rho + \rho^2 f_\rho}{2\rho^2} = \Gamma_{32}^3, \Gamma_{33}^3 = 0.$$

4 Covariant Derivatives and the Mean Curvature

To compute the mean curvature H_g of the surface S in the metric g we will use the formula [11]:

$$H_g = \frac{1}{2} [g(\nabla_{e_1} v) + g(\nabla_{e_2} v)].$$

where ∇ is the Levi-Civita connection of (R^3, g) . To simplify the computations we are going to adopt the notation:

$$e_1 = \sum_{i=1}^3 E_i \partial_i, e_2 = \sum_{i=1}^3 F_i \partial_i,$$

$$\begin{aligned} \nabla_{e_1}^{e_1} &= \sum_k \left(\sum_{ij} E^i E^j \Gamma_{ij}^k + e_1(E^k) \right) \partial_k = (E^1 E^1 \Gamma_{11}^1 + E^2 E^2 \Gamma_{22}^1 + E^3 E^3 \Gamma_{33}^1 + 2E^1 E^2 \Gamma_{12}^1 + e_1(E^1)) \partial_x \\ &+ (2E^1 E^2 \Gamma_{12}^2 + E^1 E^1 \Gamma_{11}^2 + E^2 E^2 \Gamma_{22}^2 + E^3 E^3 \Gamma_{33}^2 + e_1(E^2)) \partial_\rho \\ &+ (2E^1 E^3 \Gamma_{13}^3 + 2E^2 E^3 \Gamma_{23}^3 + e_1(E^3)) \partial_\theta, \\ e_1(E^1) &= (E^1 \partial_1 + E^2 \partial_2 + E^3 \partial_3)(E^1) \\ &= \frac{1}{\sqrt{e^{f(x,\rho)}(1+r'^2)}} \partial_x \left(\frac{1}{\sqrt{e^{f(x,\rho)}(1+r'^2)}} \right) + \frac{r'}{\sqrt{e^{f(x,\rho)}(1+r'^2)}} \partial_\rho \left(\frac{1}{\sqrt{e^{f(x,\rho)}(1+r'^2)}} \right), \\ e_1(E^2) &= \frac{1}{\sqrt{e^{f(x,\rho)}(1+r'^2)}} \partial_x \left(\frac{r'}{\sqrt{e^{f(x,\rho)}(1+r'^2)}} \right) + \frac{r'}{\sqrt{e^{f(x,\rho)}(1+r'^2)}} \partial_\rho \left(\frac{r'}{\sqrt{e^{f(x,\rho)}(1+r'^2)}} \right), \\ e_1(E^3) &= 0, \end{aligned}$$

where the partial derivatives are:

$$\begin{aligned} \partial_x \left(\frac{1}{\sqrt{e^{f(x,\rho)}(1+r'^2)}} \right) &= -\frac{f_x(1+r'^2) + 2r'r''}{2\sqrt{e^{f(x,\rho)}(1+r'^2)}^3}, \quad \partial_r \left(\frac{1}{\sqrt{e^{f(x,\rho)}(1+r'^2)}} \right) = -\frac{f_\rho}{2\sqrt{e^{f(x,\rho)}(1+r'^2)}}, \\ \partial_x \left(\frac{r'}{\sqrt{e^{f(x,\rho)}(1+r'^2)}} \right) &= \frac{2r'' - f_x r'(1+r'^2)}{2\sqrt{e^{f(x,\rho)}(1+r'^2)}^3}, \quad \partial_\rho \left(\frac{r'}{\sqrt{e^{f(x,\rho)}(1+r'^2)}} \right) = \frac{-f_\rho r'}{2\sqrt{e^{f(x,\rho)}(1+r'^2)}}, \end{aligned}$$

Hence, by substituting into the formula for $\nabla_{e_1}^{e_1}$ the expressions found for $e_1(E^1)$ and $e_1(E^2)$, as well as those for the corresponding Christoffel symbols, we finally obtain:

$$\nabla_{e_1}^{e_1} = \left[\frac{r'f_\rho - r'^2 f_x}{2e^{f(x,\rho)}(1+r'^2)} - \frac{r'r''}{e^{f(x,\rho)}(1+r'^2)^2} \right] \partial_x + \left[\frac{r'f_x - f_\rho}{2e^{f(x,\rho)}(1+r'^2)} + \frac{r''}{e^{f(x,\rho)}(1+r'^2)^2} \right] \partial_\rho,$$

Let us proceed in the same manner for the other covariant derivative we need:

$$\nabla_{e_2}^{e_2} = -\frac{f_x}{2e^{f(x,\rho)}} \partial_x - \frac{2\rho + \rho^2 f_\rho}{2\rho^2 e^{f(x,\rho)}} \partial_\rho.$$

Since $e_2(F^i) = 0$ for $i = 1, 2, 3$.

For the scalar products we obtain:

$$g(\nabla_{e_1}^{\epsilon_1}, \nu) = \frac{f_\rho - r'f_x}{2\sqrt{e^{f(x,\rho)}(1+r'^2)}} - \frac{r''}{\sqrt{e^{f(x,\rho)}(1+r'^2)^3}},$$

and

$$g(\nabla_{e_2}^{\epsilon_2}, \nu) = \frac{-\rho r'f_x + 2 + \rho f_\rho}{2\rho\sqrt{e^{f(x,\rho)}(1+r'^2)}}.$$

Hence, by multiplying the two terms and performing the obvious simplifications, the formula for the mean curvature H_g becomes [12]:

$$H_g = \frac{1}{2}[g(\nabla_{e_1}^{\epsilon_1}, \nu) + g(\nabla_{e_2}^{\epsilon_2}, \nu)] = \frac{(-r'\rho f_x + 1 + \rho f_\rho)(1+r'^2) - r''\rho}{2\rho\sqrt{e^{f(x,\rho)}}\sqrt[3]{(1+r'^2)^3}}.$$

5 Proof of the Theorem

Since the last formula gives the mean curvature of the surface S as a function of its generating curve $r(x)$ and of $f(x, \rho)$, we can use it to solve $H_g = c$ (constant) for the function $f(x, \rho)$. To do that it is convenient to introduce the following change of variable:

$$t = \rho - r(x),$$

So that the curve $\rho = r(x)$ is mapped to the line $t = 0$. Hence in the new coordinates $(\tilde{x}, t) = (x, \rho - r(x))$ the partial derivatives of f are:

$$f_\rho = f_t, f_x = f_{\tilde{x}} - r'f_t,$$

and the mean curvature H_g is:

$$H_g(x, r(x)) = H_g(\tilde{x}, 0) = \frac{(-r'r(f_{\tilde{x}} - r'f_t) + 1 + rf_t)(1+r'^2) - rr''}{2r\sqrt{e^{f(x,r)}}\sqrt[3]{(1+r'^2)^3}}.$$

A priori f is the most general function of two variables, but to simplify the computations we restrict our attention to those functions which vanish on S. We now choose any extension of f_t for $t > 0$, compatible with the condition $f(\tilde{x}, 0) = 0, f_{\tilde{x}} = 0, f = 0$, that gives.

$$H_g = \frac{(1+r'^2 - rr'') + rf_t(1+r'^2)^2}{2r^2\sqrt[3]{(1+r'^2)^3}} = H_\epsilon + \frac{f_t\sqrt{1+r'^2}}{2}.$$

where H_ϵ is the mean curvature of S in the euclidean metric.

6 Remarks

(1) If we choose $f(\tilde{x}, t) = k$ a constant we obtain [13].

$$H_g = \frac{H_\varepsilon}{\sqrt{1+e^k}}.$$

which is the known scaling formula for the mean curvature under homothety.

(2) If $S = S(R)$ is the sphere of radius R :

$$r = \sqrt{R^2 - x^2}, 1 + r'^2 = \frac{R^2}{R^2 - x^2}, r'' = \frac{-R^2}{(R^2 - x^2)^{3/2}}, H_\varepsilon = \frac{1}{R}.$$

hence

$$f(x, t) = f(\tilde{x}, t) = \frac{2(R-1)\sqrt{R^2 - x^2}}{R^2} t.$$

In this way we immerse $S(R)$ in (R^3, g) for $g = e^{f(x,\rho)} \varepsilon$ a conformally flat metric which is not obtained as homothetic expansion of the euclidean one.

7 Conclusion

An algorithm of rotation surfaces with given principal curvature function is presented. The vector of the rotation surfaces is obtained by solving a second-order differential equation with proper initial condition, so we can get the rotation surfaces which satisfied the conditions. Some practical examples are given to indicate the algorithm is feasible and is carried out easily. A new method for engineering design and surface modeling of rotation surfaces is presented.

Acknowledgements

This research is supported by the National Natural Science Foundations of China (No.61304175), The Education Department of Henan Province Natural Science Projects (No.14B110024), The scientific research project of Technology Bureau of Zhengzhou City (No.20141374).

Competing Interests

Authors have declared that no competing interests exist.

References

- [1] Wente HC. Counterexample to a conjecture of H. Hopf [J]. Pacific J. Math. 1986;121:193-243.

- [2] Kapouleas N. Constant mean curvature surfaces constructed by fusing Wente tori [J]. *Invent. Math.* 1995;119:443-518.
- [3] Colazingari E. A note on constant mean curvature surfaces in non-Euclidean spaces [J], *Bollettino U.M.I.* 1997;7:885-894.
- [4] Kapouleas N. Complete constant mean curvature surfaces in euclidean three-space [J]. *Ann. Math.* 1990;131:239-330.
- [5] Ma HJ. A Note on Minimal Hypersurfaces with Vanishing Gauss-Kronecker Curvature [J]. *Journal of Natural Science of Hunan Normal University.* 2012;35(6):1-7.
- [6] Thas C. Properties of Ruled Surfaces in the Euclidean Space E^n [J]. *Academia Sinica.* 1978;6(1):132-142.
- [7] Neagu G. Ruled Surfaces in Euclidian Space [J]. *Algebras Groups and Geometries.* 2004;21:341-348.
- [8] Nadirashvili N. Hadamard's and Calabi-Yau's conjectures on negatively curved and minimal surfaces [J]. *Inventiones Mathematica.* 1996;(126):457-465.
- [9] Cheung LF, Do Carmo M, Santos W. On the compactness of CMC-hypersurfaces with finite total curvature [J]. *Arch Math.* 1999;73(3):216–222.
- [10] Berard P, Santos W. Curvature estimates and stability properties of CMC-submanifolds in space forms [J]. *Mathematica Contemporanea.* 1999;17:77–97.
- [11] Francisco J. Lopez, Antonio Ros. Complete minimal surfaces with index one and stable constant mean curvature surfaces [J]. *Commentarii Mathematica Helvetici.* 1989;1.
- [12] Barbosa JL, Gomes J, Silveira A. Foliation of 3-dimentional space forms by surfaces with constant mean curvature [J]. *Bol Soc Bras Math.* 1987;18:1–12.
- [13] Ishi Hara T. Maximal spacelike submanifolds of a pseudo-riemannian space of constant curvature [J]. *Michigan Math J.* 1988;35(33):45-352.

© 2015 Hongjuan & Aiping; This is an Open Access article distributed under the terms of the Creative Commons Attribution License (<http://creativecommons.org/licenses/by/4.0>), which permits unrestricted use, distribution, and reproduction in any medium, provided the original work is properly cited.

Peer-review history:

The peer review history for this paper can be accessed here (Please copy paste the total link in your browser address bar)

www.sciencedomain.org/review-history.php?iid=1030&id=6&aid=8337